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1. Y meHs 12 Terpazeui. MIx pasgam 4
YYALIWMCH. CKOJIBKO TeTpajen
TIOTYIUT KKIBIN YU€HUK?
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MOo>XHO pa3zenmuTh 13 I0JIOK TIOPOBHY MEXAY
4 pebsiTamm’?






CITIACUDBO
3A YPOK!



http://images.yandex.ru/yandsearch?ed=1&text=%D0%B4%D0%B5%D1%82%D1%81%D0%BA%D0%B8%D0%B5 %D1%80%D0%B8%D1%81%D1%83%D0%BD%D0%BA%D0%B8 %D0%BD%D0%B5%D0%B7%D0%BD%D0%B0%D0%B9%D0%BA%D0%B8&p=38&img_url=i052.radikal.ru/1104/5d/a8466ea8c5a9.jpg&rpt=simage
http://images.yandex.ru/yandsearch?ed=1&text=%D0%B4%D0%B5%D1%82%D1%81%D0%BA%D0%B8%D0%B5 %D1%80%D0%B8%D1%81%D1%83%D0%BD%D0%BA%D0%B8 %D0%BD%D0%B5%D0%B7%D0%BD%D0%B0%D0%B9%D0%BA%D0%B8&p=38&img_url=i052.radikal.ru/1104/5d/a8466ea8c5a9.jpg&rpt=simage

